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Ratio Problems

Name Date

1. The sides of a triangle are in a ratioc of 3:6: 4. The perimeter of the triangle is 65cm.
What is the length of each side?

2. The length and width of a rectangle are in a 5:3 ratio. Find the length if the perimeter
is 48.

3. The angles in a triangle are in a ratio of 2:3:5. Find the measure of each angle.

4. Separate 99 into two parts that are in a ratio of 4:7,
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Mike and his sister need to divide $24 in a 7: 8 ratio. How should the money be divided?

A mixture of oil and vinegar fills a 6oz jar. The ratio of oil to vinegar is 7:5. How
many ounces of oil are in the jar?

The ratio of 2 complementary angles (adding to 90 degrees) is 7:2. Find the two angle
measures.

The ratio of guarter to dimes is 3 to 2. If the value of the coins is $2.85, what is the
number of dimes?




